
ISD/MS/MATH/V/REV WS/2018-19 

  
1 

 

CLASS : V   SEC : 
…..... 

 Date :…………... 

Name:……….............................……...         Roll No:…….… 

I) Fill in the blanks : 

a)  The decimal form of 
1000

12
 is ___________  

b)  4 tenths and 9 thousandths is ___________ 

c)  Fractional form of 3.058 is __________ 

d)  1.878 x _________ = 18.78 

e)  71.5 ÷ _________ = 0.715 

f) 25 ÷ 1000 = __________ 

g)  __________ should be added to 6.3 to get 13. 

h)  0.9 x 5 = ___________ 

i) 0.56 ÷ 8 = ____________ 

j) If 213 x 4 = 852, then the value of 21.3 x 4 is ____________ 

II) Compare the decimals using the sign (<, > or =) : 

a) 6.505     _________     6.055                  b)   0.98     _________     9 + 0.8 

c) 4 + 3.5   _________  8 – 0.5                   d)   0.42 x 10    _________    12.5 – 9.5 

III)  Do as directed: 

a) Add:     

(i) 21, 6.5, 1.23                                       (ii)     10.001, 100.01, 0.1                                        

b)   Subtract:      

(i)    48.56 – 7.256                                    (ii)     36.937 – 6.66 
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c)    Multiply: 

(i) 0.09 x 35                                           (ii)     23 x 4.8 

d)  Divide. Check the answer by multiplication. 

(i) 7.56 ÷ 7                                             (ii)    0.246 ÷ 3 

e)  Divide till the remainder gets zero:  9.82 ÷ 4 

IV) Solve: 

a)  Sonu runs 153.35 metres in 50 seconds and John runs 92.87 metres in the same time. 

How much farther does Sonu run than John? 

b) A bus covers a distance of 180.60 km in 5 hours. What distance does it cover in 12 hours? 

c) A tailor needs 52.18 cm of white lace for Richa’s skirt and 75.85 cm of the same lace for 

the top. How much lace does he need in all? 

    

 

 

 

 

 

 

 

 

 

      


